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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data

dFVo
o—a @G  E&h & Gt & & & & & &t & - & —a a» amy—an

—o— dFVI
+

67.5

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

day

—&— DUC

0. 04 -
0.02 -
0. 00 -

0. 02 -

0. 04 -

600 -
500 -
400 -
300 -
200 -
100 -

67.5

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

day

67.5

o
o
©
[Tp]
N
©
o
o
%)
o
~
0
>
@©
©
o
)
s}
[{p]
N
o
o
o
Te)
o
~
<
> &)
@ &
o o
T T T T T T T T T T T T
© © © ©o© ©o o o o © ~ © o
S L © L © L & b < < < <
< (9] (9] N [aV] — ~— © © [{=] o
o o o o

67.5

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

day



Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-6

BfiE) | GEBAK ) | ERE (EAR/H) | BERERE (B/R) | XS EE

06:45 268 150.0 2.583 5| FHA@06:45 KENFEF (RA{ERELEE)
07:30 268 150.0 2.583 5| FEAe07:30 KEIEFE CGRAEESE)
08:15 268 150.0 2.583 5| FHAQO8:15 KENFEF (RAfEEEE)
09:25 268 150.0 2.583 5| FMHA@09:25 KENFZEF (RA{ERENER)
10:20 268 150.0 2.583 5| FEAe10:20 KEIEFE CGRAMFESE)
11:05 268 150. 0 2.583 E(  FiHRe11:05 KRHEFEF CGRAERESE)
11:50 268 150.0 2.583 | FHAe11:50 KEEF (KAERESE)
12:35 268 150.0 2. 583 5| FHAe12:35 KEIEFE CGRAMFESE)
13:20 268 150. 0 2.583 E(  FiHRe13:20 KREFEF CGRAERE)
14:05 268 150.0 2.583 | FHAe14:05 KEEF (KAERESE)
14:50 268 150.0 2. 583 5| FEAe14:50 KEFEFE CGRAFESE)
15:40 268 150.0 2.583 5| FHA@15:40 KENFEF CGRAMEEEE)
16:45 268 150.0 2.583 5| THRe16:45 KENEF CGRAEES)
=it 3484.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

RE X i [B] TRECHUR SR oK.

[E;&REC 5840.0 K5, EiNF{KECAE&M%ER
#[EKECZE (1780.0 vs 5840.0) 15
REXREBT I HEREC/PHE R K, FIREZINIRAELR R



FRV (ml plant-1)

ET (ml/hr/plant)

0.2

0.0
400

300

200

100

1.0

0.8

0.6

0.4

0.2

0.0
800

600

400

200

30

25

20

15

80

70

60

50

P3-6_0, Day=67 (2025-06-04)

7 1700

VI, VBP¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 2000
424 1493

1)

- 1500 &

- 1000 ~~

FRV

- 500

optEC0=2600. 0, setECB=2080.0

optPH0=6. 5, setPHB=5.6

- 2000

- 1000

cumET (ml/plant)

', 'PPFD_obs’] is missing

.(

“" "To_obs'] is missing

"RHo_obs’] is missin

Warning: lcol ['RH_obs’,

0.2 0.4 0.6 0.8 1.0



hour

100

80

- 60

- 40

’%
@ i
‘*@»
I
@
e
G%ﬁg
/&@(
A
2y
R T ([ [

T

R
2 P



P3-6

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:50 300 150.0 2.583 S| {Ri%@06:50 F iz (KRAMERSE)
07:35 300 150. 0 2.583 E  BRi&e07:35 Fa1 (RAERERE)
08:45 300 150.0 2.583 5| {Ri%@08:45 F 3 (FAAERSE)
09:40 300 150.0 2.583 S {Ri%@09:40 Fzh (KRAERSE)
10:30 300 150. 0 2.583 E BRi%e10:30 Fz1 GRAERERE)
11:15 300 150.0 2.583 S Ri%e11:15 Fzh (GRAERSE)
12:00 300 150.0 2.583 =l RRiB@12:00 Fzh (RFAKEE)
12:45 300 150. 0 2.583 E BRige12:45 Fz1 CGRAERESE)
13:35 300 150.0 2.583 5| {Ri%e13:35 F3 (RAERSE)
14:20 300 150.0 2.583 = RRiB014:20 Fz (RFAEEE)
15:00 300 150. 0 2.583 E BRi&e15:00 Fz1 CGRAERERE)
15:50 300 150. 0 2.583 El 1BRi&e15:50 Fzh CGRAEREE)
16:50 300 150.0 2.583 =l RRiB@16:50 Fzh (RFAKEEE)
=23t 3900.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

RE X i [B] TRECHUR SR oK.

[El;&EC 6225.0 K5, EiFAKECAE & imiERR
#[EKECZE (1860.0 vs 6225.0) 15
REXREBT I HEREC/PHE R K, FIREZINIRAELR R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=66 (2025-06-03)

T e g g S S S B S g s
VI, VBFRY, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET

100 11300

50

395

Warning: lcol [FVI',| "FVO’'] missing

- 2000
1700 7 §85 ~
- 1500
£
F 1000 ~
- 500
0
-0

0 -

200 -

100

1 1 i ihhN il

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

300

200 -

I
|
|
1
|
1
1
I
1
b o -’
0 | 1

2 3 4 5 6 7 8

1
Bylnit:@D67 01:52: ET=1578 Fg=1650. 0 Ro=268.0

10

11

12

13

- 3000
7

- 2000

- 1000

20

21

BB | B

B | B | B | B | B B | &

E3
B

ES
5]

=
B

E3
B

=
B

E3
B

E3 ES
B 5]

ByEt @66 19:07: ET=1767 Fg=1728.0 Ro=nan

2 3 4 5 6 7 8

9

10

11

12

- 2000

- 1000

15

17

20

21

BB | B

B | B | B | B | B B | &

i

E3
B

ES
5]

=
B

ES
5]

E3
B

=
B

E3
B

E3 ES
B 5]

300

200 -

100 -

[ S S S S S —

o
—_

]
ByWoFv!1@D67 01:52: ET=1585 Fg=1950.0 Ro=374.0

10

11

12

- 2000

- 1000

16

18

19

20

21

22 23

™
T
m
T

0.8

E3
B

ES
5]

=
B

=
B

E3
B

ES
5]

=
B

E3
B

E3 ES
B 5]

0.6

0.4+

0.2~

0.0

1500 ~

1000 ~

500 -

[ ]
——

A

=

|
| _obs
PPFD_obs

25 A

20 A

T 4
T obs
To_obs

e v P

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=435, FV0=0 m=530, FV0=0 m=585, FV0=0

26. 75 A 26. 75 A

21.01 o WE 26.8 ~ —o— ME —e— ME - ME
26. 6 26. 50 - 26. 50 A
26.5 - i
: , By L t t E 26.4 26. 25 26. 25 -
! 26.2 1 26.00 - 26.00 -
26.07 l & & & 26.0 -
. 1 4 4 3 & 25. 75 - 25. 75 -
d 1 1 25 8 N
25 5 1 & ' : 25. 50 - 25. 50 -
25. 6
T T T T T T T T T T T T T
400 600 800 1000 435 440 445 530 535 540 585 590 595
m=635,m FV0=0 m=680,m FV0=0 m=720,m FV0=0 m=765,m FV0=0
26. 75 -
o— wE | 2687 o— me | 2687 o— wE | 2687
26.50 26. 6 26. 6 4 26. 6
26. 25 26.4 4 26. 4 - 26. 4
26. 00 26.2 7 26, - 26.2
26.0 26.0
25. 75 - 26.0
25. 8 25.8
25. 50 - 25. 8
25. 6 25.6 - ME
T T T T T T T T T T T T
635 640 645 680 685 690 720 725 730 765 770 775
m=815,m FV0=0 m=865,m FV0=0 m=915,m FV0=0 m=970,m FV0=0
26. 8 26.81 o wE 280 o— wE | 2700 o MNE
26. 6 26. 6 27 5 4 26. 75 -
26. 4 26. 4
27.0 26. 50 -
26. 2 26.2 - o—0o—0o 00— 00
26.5 26. 25 -
26.0 26.0
26.0 26. 00
25.8 25. 8
—-o— 25.5 i
25. 6 ME 1 256 25.15
815 820 825 865 870 875 922 924 926 928 970 975 980
m m=435,m FV0=0 m=530,m FV0=0 m=585,m FV0=0
4357 o wu —— MW 44.75 4 —@— MW
44, 25
42.5 -
42.0 A 43.75
43.0 - 43. 50 A
41.5 4
T T T T T T T T T T 43 25 B T T T
400 600 800 1000 435 440 445 530 535 540 585 590 595



45.

44.

44

44,

44,

43.

46.

45.

45.

45.

45.

44,

44.

m=635, FV0=0

00 A

75

50 -

25 -

00 ~

75

—0—

MW

T
635

640 6&5
m=815,n FV0=0

00 ~

75

50 -

25 A

00 -

75 1

50 A

—0—

M_W

T
815

T
820 825

45.

45.

44,

44,

44.

44,

43.

46.

46.

45.

45.

45.

45.

44.

m=680, FV0=0

25 A

00 -

75 -

50

25

00 -

75 A

—— MW

T
680

6é5 6é0
m=865,n FV0=0

25 A

00 -

75 -

50 A

25 H

00 -

75 -

—— MW

T
865

T
870 875

45.

45.

45.

44,

44,

44.

46.

46.

46.

46.

46.

m=720, FV0=0

50 A

25 A

00 -

75 -

50 A

25 A

—— MW

T
720

7é5 750
m=915,n FV0=0

70

65

60

55 -

50 A

—0— MW

T
922

T
924

T
926
m

T
928

m=765, FV0=0

45.75 A

45. 50

45. 25 A

45. 00 A

44.75 A

44.50 A

—0—

M_w

T
765

7%0 7;5
m=970,n FV0=0

47.0 A

46.5

46.0

45.5 -

—o—

M_w

T
970

T
975 980




hour

10:
10:
11:
12:
12:
13:
13:
14:
14:
15:
16:
17:

0 N o o

100

80

- 60

- 40

§_

% K L
% &8
S Q\g’é\ »g\%}'

%
S



P3-6

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

06:55 273 150. 0 2.583 |Z=| {Ri&e06:55 Bz (REEHSE)
07:35 273 150.0 2.583 = {RRiB007:35 B (RFAEEE)
08:35 273 150. 0 2.583 E|  {Rig@08:35 Bah (RE{ERSE)
09:20 273 150.0 2.583 5| {Ri%@09:20 B3 (FAERSE)
10:00 273 150.0 2.583 =l RRi80@10:00 Bz (RFAKEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:25 273 150. 0 2.583 =l Rige11:25 Bz (GRAEESE)
12:15 273 150.0 2.583 =l {Rige12:15 B3 (RAERSE)
12:50 273 150. 0 2.583 =l RRiB012:50 B (REAKEE)
13:20 273 150.0 2.583 (£=| {Ri%e13:20 Bz (REAEDSE)
13:50 273 150.0 2.583 (Z=| {Ri%@13:50 Bz (FRAEHRSE)
14:20 273 150. 0 2.583 |Z=| {Ri&e14:20 Bz (REEZEBE)
14:50 273 150. 0 2.583 |Z=| BRige14:50 Bz (GRAERESE)
15:30 273 150.0 2.583 (Z=| {Ri%@15:30 Bz (RAEHSE)
16:10 273 150. 0 2.583 | =| {Ri%e16:10 Bz (REZBE)
17:00 273 150.0 2.583 |Z=| {Ri&e17:00 Bz (REEZEBE)
Bit] 4368.0 (167%) 2400. 0 3203 KEC: 2080.0, PH: 5.6

R ERRETC (600) 57 EA (268. 0) 14, FIREH T % AREERS %2 X ER
2RI\ L PRIERE336. 0 ml.

[E;&%EC 5960.0 K&, ZEiFHKECAE&IMEER

HEEIRECZE (1907.0 vs 5960. 0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=65 (2025-06-02)
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P3-6

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

08:40 273 150.0 2.583 Z| {Ri%e08:40 B (KREAEZHE)
09:35 273 150. 0 2.583 [ =| 1Rige09:35 Bz (KAFERHE)
10:25 273 150. 0 2.583 (£=| {Ri%e10:25 Bz (REAEDSE)
11:15 273 150.0 2.583 FR| {Ri&e11:15 Bz CGRAEEE)
12:05 273 150. 0 2.583 FH| 1Ri&e12:05 Bz (REAERSE)
13:00 273 150. 0 2.583 FH| 1Ri&@13:00 B (RFAERESE)
14:20 273 150.0 2.583 FA| {Ri&@14:20 Bz CGRAEEE)
15:40 273 150. 0 2.583 FE| 1Ri%e15:40 Bz (REAERSE)
2it]2184.0 (8%) 1200. 0 3283 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (447:132.0), set to 447 ml.
[2]/&REC 6037.0 K&, EiUAKECHAIMIAER
BE[EIKRECE (2007. 0 vs 6037.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=64 (2025-06-01)
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Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

05:55 278 150.0 2.583 FA| {Ri%@05:55 Bz (kAMEE:E)
06:55 278 150.0 2.583 FA| 1BRi%@06:55 B3h (FKA{EREEE)
07:55 278 150.0 2.583 FA| 1B2i%@07:55 Bzh (kAB{EREEE)
08:55 278 150. 0 2.583 FA| {Ri%@08:55 Bz (kAMEE:E)
09:55 278 150.0 2.583 FA| 1BRi&@09:55 B3h (FKAIEREEE)
10:55 278 150. 0 2.583 FA| 1B2i%@10:55 B3h (kAIEREE)
11:55 278 150.0 2.583 FE| 1Ri&@11:55 B (RS
13:25 278 150.0 2.583 | K/| {Ri&e13:25 Bzl (REEHSE)
14:50 278 150. 0 2.583 |/hfu| {Ri&e14:50 B (REEBE)
16:20 278 150.0 2.583 FA| 1B2i%@16:20 B3h (RABIERSE)
21t 2780.0 (10)%) 1500. 0 3Z03KEC: 2080.0, PH: 5.6

large discrepency for begining water status (370:174.0), set to 370 ml.
[E]/&EC 6020.0 K7, EiUAKECHAIMIAERR
PBE[EIRECE (2087. 0 vs 6020.0) i 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=63 (2025-05-31)
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